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Department of Mathematics
University of Toronto :

TUESDAY, March 2, 2010 6:10-8:00 PM
MAT 133Y TERM TEST #3

Calculus and Linear Algebra for Commerce
Duration: 1 hour 50 minutes

Aids Allowed: A non-graphing calculator, with empty memory, to be supplied by student.

Instructions: Fill in the information on this page, and make sure your test booklet contains 10
pages. In addition, you should have a multiple-choice answer sheet, on which you should fill

in your name, number, tutorial time, tutorial room, and tutor’s name.

This test consists of 10 multiple choice questions, and 4 written-answer questions.

For the multiple choice questions you can do your rough work in the test booklet, but you
must record your answer by circling the appropriate letter on the answer sheet with your
pencil. Each correct answer is worth 4 marks; a question left blank, or an incorrect answer, or
two answers for the same question is worth 0. For the written-answer questions, present your
solutions in the space provided. The value of each written-answer question is indicated beside it.

ENCLOSE YOUR FINAL ANSWER IN A BOX AND WRITE IT IN INK.
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PART A. Multiple Choice
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In(z +y) — 2%y = 1 defines y implicitly as a function of z near z =0 ,y=e.
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3. [4 marks]
a+a.c+.clmm defines y implicitly as a function of z near the point z=2, y=1.
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6. [4 marks/

Every one knows that e = 2.718..., but if you use Newton’s method to estimate a solution
of the equation lnx = 1, starting with 2o = 1, then (to two decimal places) z; =
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7. [4 marks]

Let F(z) be the function such that F(0) =0, F/(0)=1 and F'(z)=¢*—=x.
Then F(x) is:
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PART B. Written-Answer Questions
[16 marks]
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.?; Cone

v——

|._w_.P.|| X,HO _,u \W@& Q\.m% %SV.&W ob ,S.Q_Gcm.e..)

ﬁi%\\nd _,ll ngéﬂd
<2, ¢© s -
m‘l..L!llll 2
(2, OOV_ ue

[5] (d) Draw® clear graph of y = f(z) on the axes below:
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2. [15 marks]

The price per unit of a product is given by the demand function p = 1000e~9/190 with p in
dollars.

/5] (a) What is the point elasticity of demand when g = 257
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3. [12 marks/

Sketch a rough graph of the two curves y = z° +z? —z and y = z on the axes below and
determine the area bounded by them.
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4. [17 marks]

Evaluate the integrals:

(8] (a) \acaavm dz ﬁmm. = &ﬁ v\ﬁ dv = XQVO
" duz mm..w&x A M.
= %MN%»XV lMJK%sKQ—x | ~

,r.&& A= %Sn ey,\\\.XQFvn
dus &8 gz

A X z
- IK.MF@)KQ@\ ﬁ%%&n - MJNW\ %XQE
AE(ES SE £, C

(see il
T % _ coalttetes =
A +3) + @?4&...0?4 = Hx-bx - - ow)
x-tJx
x=i | 4p=-% B=-2
<=-3 16C= 4§ C=3
¥=0,5ay - m»&u@,«ﬁ - -
A
~3ph* -3
A=




